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M.Com. (Previous) ABST Examination, 2016

ADVANCED COST & MANAGEMENT
ACCOUNTING

Time Allowed : Three Hours

Maximum Marks : 100

PART-A (@US-37) [Marks : 20
Answer all questions (50 words each).

All questions carry equal marks.

gt g AfEd € T Y # IW W TS 4
Afys 4 7N

gt v B fF gEE T

PART-B (@U3S-9) [Marks : 50

Answer five questions (250 words each), selecting one

from each Unit. All questions carry equal marks.

TEF @R ¥ ¥ TE-UE T I g, F{E 9 T
HITC T&F WIF H I 250 VI ¥ afus A B

it v & ofF wEE B

P.T.O.

PART-C (@UsS-¥H) [Marks : 30
Answer any two questions (300 words each).

All questions carry equal marks.

FE T ¥ T TIF W @ SW 300 Ve A
' Ffts A 8l

gt we & of% wEE B
PART-A
(@Ue-31)

1. (i) Where does Pareto analysis applicable to the

Business situations ?
FF W AEatas wffE § 9 favewe a@n
T 22

(ii) What are disadvantages of Cost Plus Pricing

method ? Write any four.

e 4 qea fafy & @ gHed €2 #§ 9N
fafaq

(iii) At what Price articles should sell in period of

recession 7
T # TG INE ) RE qeg W =T =@ ?

(iv) How to calculate the Throughput contribution ?

- . L.
YIe YT S TUH e H Fio, o7
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(v) What are types of activities under Activity based
Costing?
e sTuife wFa wEied & srd feast =
e TAR 2?2

(vi) Define the term Cost as per Cost Accounting

Standard-1.

T SEEA ARE-1 ® FTER O Ve #
TRt @S

(vii) Under Partial plan, from which Cost work-in-

progress account is charged and credited ?

A de % A=, fFw e | 9 B
TR ¥ 9gd U8 Hfee fea wm R?

(viii) What are components of Target Costing ?
T O ST B WOew o 87
(ix) How to calculate Economic value added ?

Afds Tea g W A HW H W 87

(x) What are Business perspectives under Balance

Score Card ?

I R FE F Fq AGuigs Uf€ed =
27
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PART-B
(@Te-9)
UNIT-I

(THE-1)

Explain the following :

(a) New Product Pricing
(b) Rate of Return Pricing.

frafafas &1 = =ifeg .
(a) T¥ IWR Tea FuRd
(b) W T Hed fruiRon

What do you mean by Pareto analysis ? What are its
Business applications 7 Explain.

I foavewu @ 9 1 WO 87 IEG qauds
I T 87 W wifa

UNIT-II

(gFE-1I)

What is throughput Accounting ? How is it improved ?

Explain in detail. http://www.mlsuonline.com

YT SWET T 7 TR I hd [HA w1 §?
foar 8 == =i
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5.

A Paint Manufacturing Company manufactures
2,00,000 per annum medium sized tins of “Spray Lac
Paints” when working at normal capacity. It incurs

the following costs of manufacturing per unit :

Rs.
Direct Material 7.80
Direct Labour 2.10
Variable overheads 250
Fixed overhead 4.00
Production cost per unit ﬂ

Each Unit (tin) of the product is sold for Rs. 21 with
variable selling and administrative expenses of 60
paise per tin. During the next quarter only 10,000
units can be produced and sold. Management plans
to shut down the plant estimating that the Fixed
manufacturing cost can be reduced to Rs. 74,000 for
the quarter. When the plant is operating, the Fixed
overheads are incurred at a uniform rate throughout
the year. Additional costs of Plant shut down for
the quarter are estimated Rs. 14,000.

You are required :

(a) To express your opinion, along with calculation,
as to whether the plant should be shut down
during the quarter.

4802/44/2,530 5 P.T. 0.

(b) To calculate the shut down point for quarter in
units of products (i.e. in terms of number of

tins).

TH U= IAREE FA] 9 WHE &9 R $14 wi
g, 7@ WEE AWR B W oF t=® A @
2,00,000 wfoad Sewfga @ €1 wha g fambh

3.
Yoy "YU 7.80
qoasl ¥ 2.10
Tfad=yie Sufieay 2.50
it 3afera 4.00
6 =E IW"s O E

ST H TEE IEE 21 % G oddl Wl g
fadvitel fawa wa womafss =09 60 T8 wfa fos
2l o foort § FEd 10,000 IHRE IQRE @
¥ W TEA B YY ¥g qeE ST § fE o4
How =< =X f§@r W@, @ 3w aqee ¢ s wrd
frivlt @me 74,000 3. wfq fauet «2 St @ w@Far
g1 WE WIA wafaw @@ €, §@ SURSg 9§ 8K
T WG T BG € WG §% wm ® SAoiEq
e wie famst egmifa 14,000% €

4802/44/2,530 6



(a) TR 37T TH T WiEd Ued FET E fE s
fadt & srcrla §99 & &% H 0 w@f8T

b) % = & fog # et & faw T =i
(f=i =1 g & a=d #)I
UNIT-III

(F=TE-I01 )

What do you mean by Activity Cost Accounting ?
How is it differing from Traditional Costing ?

s Tfafy @@ TEes @ ¥ WEER 87 4E
TR O d@ieT W &9 e 82

Explain the following in the context of Cost

Accounting Standard-3 on overheads (revised 2011):
(a) Cost centre and Cost object.

(b) Normal capacity.

(¢} Presentation of overheads.

AN SET YHU-3 Iufer (geifad 2011) ® w<d
¥ M o= e wmifee

(a) WA ®% @ AE )
(b) WA &
(¢y SR+ wRgfas
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UNIT-IV

(FHZ-IV)

ﬂ.CUmpany has the capacity of Production of 80,000
units and presently sells 20,000 units at Rs. 100 each.
The demand is sensitive to Selling price and it has

been observed that every reduction of Rs. 10 1n Selling

~ price the demand is doubled. What should be the

Target cost at full capacity, if Profit margin on sale

is taken as 25%.

What should be the Cost reduction scheme, if at
present 40% cost is variable with same % of profit ?
If rate of return is 15%, what will be maximum

investment at full capacity ?

Explain the Accounting procedure of Standard

costing.

TF FEE B 80,000 TFEEAT INMGT FH B &HA
2 o aduE # 20,000 3HRAT 100 & WA HE W=
W 2w fawg qew ® wh g § AW a9
Fractie fva T fo foha o W TS 10 T B
FH W AN FE B W R oAl frrm Wy 25%
foran wmg, @ ol e W oded @ @@ gl Amew?
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10.

4802/44/2,530 9

amd HE G F EHP =Ry, afg gdEE H 40%
o ofEde, 99 whwm @Y & W@y g oER
Yd R O15% B, A P e woAfuman fafwm
faam =im?

TOY T S Hl q@ied 9Hha We smifeu

Calculate the Economic Value Added of a firm from

the following given data :

frafafen g ™ wdsl €@ @ wd & fag onfis
I W8 B T HIEC

NOPAT Rs. 16,00,000
Rate of return on risk free Securities 10%
Market rate of return 15%
Beta 0.5
Cost of debt 8%
Mixture ratio of Equity and Debt 2:3
Invested Capital Rs. 50,00,000

UNIT-V

(F&E-V)

Explain the terms Market Value Added and Cash

Flow Return on Investment.

P.T.O.

1L

12.

AR e Sig den fafem W e @ yem v
® W Fifag

Write a critical note on “CAS-1 classification of

Cost”.

‘CAS-1 WA H il WM fowi
fefEu

PART-C
(@TUe-9)

Write short notes on the following :
{a) Export v/s Local sales

(b) Shut down or Continue decision
(c) Target Costing

(d) Balance Score Card.

frefafas = Wi feafral fafey .
(a) Tale T o fasg

(b) &% ¥ @M FH & fofg

() T A i

@ e @R w7
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13. Hindustan Unilever Limited produces three products

viz. Lux, Lifebuoy and Dove for which Cost

Department furnishes following informations :

ez giifeer fa, &9 SR o, aswsig aur 2

F1 ITA B! ®, o foe o fawm fos geemd

TG S €
Product Lux Lifebuoy
Quantity produced 10,000 20,000
Direct Material/p.u. Rs. 50 40
Direct Labour/p.u. Rs. 30 40
Labour hours/p.u. 3 4
Machine hours/p.u. ' 4 4
No. of Purchase requisitions 1200 1800
No. of Set ups 240 260

Dove
30,000

30

2000

300

Productior overheads split by Departments.

Department 1 = Rs. 11,00,000

Department 2 = Rs. 15,00,000

Department 1 is Labour intensive and Department

2 is Machine intensive.

faaqm | s yym @ fawmr 2 weleowum R
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Total Labour hours in Department 1 1,83,333
faam | & @ 99 W
Total Machine hours in Department 2 5,00,000

fagm 2 & I TR Hw

Production overheads split by activity.
I Iufemm fafafial @ fawfsa 2
Receiving/inspecting Rs. 14,00,000
Production scheduling/machine set up Rs. 12,00,000
Number of batches received/inspected 5000

Number of batches scheduling and set up 800

You are required to :

AGH HE B

(a) Prepare Product Cost Statement under
Traditional absorption costing and Activity based

costing method.

(b) Compare the results under two methods.

(a) Tafafa s e ey a9 T[T STERiET
[GIUGIRCECIC I i Co T e roti A T AR - Co U i B B

(b) 3 fafial & i ofommi w ge HieQ
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14. An organisation manufactures a product, Particulars

‘ S 15. How to calculate total Shareholder’s return ? How
of which are detailed below : . : ‘
does EVA super over the return on Investment ?

@WW@WW%WW% Explain.
2

Fa Vil F YEm™ & T B9 # e 2

Annual Procuction 20,000 el T e B8 fafe | @@ § 9 0 W
Cost Per annum (Rs.) ifer) -

Material 50,000

Labour 60,000

Overheads 40,000

Apportioned Investment (Rs.) 1,50,000

Determine the Unit selling price under two strategies
mentioned below. Assume that the organisation’s tax

rate is 40%.
(a) 20% return on investment

(b) 6% Profit on list sales, when Trade discount 1s

40%..
frefafaa < o & oria wid 3 fosea T Ay . http://www.mlsuonline.com
ffg @iy 7 SRfae fi WTeT #T H W T 40% 2 ’ Whatsapp @ 9300930012
N Your old paper & get 10/-
() fafram o= 20% ' R o g 3 10 wud urd,
(b) TR FoRA W 6% TN T NG a2 40% T o Paytm or Google Pay &
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